 (
If a bed is reduced by 35% in a sale to £91.00, find the original price.
If a computer is reduced by 77% in a sale to £6.90, find the original price
A radio sells for £63, after a 40% increase in the cost price. Find the cost price
The price of a bicycle increases by 10% to £198. Find the price before the increase. 
) (
100
) (
1
) (
84
) (
A 
coat is reduced by 20% in a sale to £84. What was its original price?
) (
8960
) (
36
) (
A car depreciates in value by 30% during its first year. Its value now is £8960. What was its original price?
) (
100
) (
100
) (
1
) (
1
) (
A jacket is reduced by 40% in a sale to £36. What was its original price?
)
